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Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in
meaning to the underlined word(s) in each of the following questions.

Question 1: The maintenance of these old castles must cost a lot of money.

A building B. foundation C. destruction D. preservation
Question 2: People in the mountainous areas are still in the habit of destroying forests for
cultivation,

A. planting B. farming C. industry D. wood

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of
the following questions.
Question 3: Only one person who can provide the best solution to the question will be

promoted and a financial grant.

A equipped B. served C. entitled D. awarded
Question 4: If some endangered species _____ in zoos, it would help to ensure their future
survival.

A, will be kept B. are kept C.hadbeenkept D, were kept
Question 5: My grandfather retired from work last month. He for the same
company for 40 years.

A. was working B. had been working  C. has worked D. had worked
Question 6: This building finished by the end of last year but there have been so
‘many strikes that it isn’t finished yet.

A. will have been B. should have been

C. was to have been D. may not have been
Question 7: Susan rarely stays up late, ?

A.is she B.isn’t she C. does she D. doesn’t she
Question 8: Hearing about people who mistreat animals makes me go hot under the

A.chin B. collar C. sleeves D. vest
Question 9: Florida, _____ the Sunshine state, attracts many tourists every year.

A.is known as B.thatisknownas  C.whichknownas  D.knownas
Question 10: You look really tired. You could _____a week’s holiday, I think.

A. do with B. make for C. pass for D. make with

Question 11: For Arabic speakers, more than two consonants together can be difficult to
. so they often insert a short vowel between them.

A. announce B. denounce C. pronounce D. renounce



[image: image2.jpg]Question 12: Flat-roofed buildings are not very in areas where there is a great deal

of rain or snow.

A.severe B. serious C. suitable D. sensitive
Question 13: The local press has been pouring _____ on the mayor for dissolving the
council.
A.scom B. blame C. disapproval D. hatred
Question 14: As a small boy, he was used to_____ alone in the house for an hour or two.
A being left B. leaving C.be lefi D. leave

Read the following passage and mark the letter A, B, C, or D on your answer sheet to
indicate the correct word or phrase that best fits each of the numbered blanks

Child workers, some as young as 10, have been found working in a textile factory in
conditions described as close to slavery to produce clothes that appear destined for one of the
‘major high street retailers. The discovery of these children working in appalling conditions in
the Shahpur Jat area of Delhi has renewed concerns about the (15)_____ by some large
retail chains of their garment production to India, recognised (16)_____ the United Nations
as one of the world's hotspots for child labour. According to one (17)____, over 20 per
cent of India's economy is dependent on children, (18)_____ comes to a total of 55 million
youngsters under 14 working. Consumers in the West should not only be demanding answers
from retailers about how their (19)_____ are produced but also should be looking into their
consciences at how they spend their money and whether cheap prices in the West are worth

the suffering caused to so many children.

Question 15:  A.outsourcing  B.outsources  C.outsourced . outsource
Question 16:  A. for B. with C.of D.by
Question 17:  A.evaluation  B.investigation C.calculation D, estimate
Question 18:  A.who B. which C. what D. that
Question 19: . goods B.stuff C. garment D. ware

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best
combines each pair of sentences in the following questions.
Question 20: Mike graduated with a good degree. However, he joined the ranks of the
unemployed.

A.If Mike graduated with a good degree, he would join the ranks of the unemployed.

B. That Mike graduated with a good degree helped him join the ranks of the unemployed.

C. Mike joined the ranks of the unemployed because he graduated with a good degree.

D. Although Mike graduated with a good degree, he joined the ranks of the unemployed.
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A. Although Nam defeated the former champion in three sets, he did not win the title of inter-
school table tennis championship.

B. Being defeated the former champion in three sets, Nam lost the chance to play the final
‘games of inter-school table tennis championship.

C. Having defeated the former champion in three sets,

Nam did not hold the title of champion.
D. Having defeated the former champion in three sets, Nam won the inter-school table tennis
championship.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.
Question 22: He was driving very fast because he didn’t know the road was icy.
A.If he knew the road was icy, he wouldn’t drive so fast.
B. He hadn’t been driving very fast if he would have known the road was icy.
C. If he had known the road was icy, he wouldn’t have been driving so fast.
D. He wasn’t driving very fast if he would know the road was icy.
Question 23: It is difficult to start looking for a job at my age.
A.Itis difficult for me to get employed at my age.
B. I'm young, so it is difficult to start looking for a job.
C. Getting employed at such ages is also difficult.
D. 1 don’t think I can start looking for a job now.
Question 24: I spent more time on the last question than I did on the first four.
A. The last question was the most difficult for me.
B. L answered only the first four questions.
C. 1 found the last question easier than the other questions.
D. 1 failed to get to the last question.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to
indicate the correct answer to each of the questions

Unlike these fish, which are actually extinct, the coelacanth is a type of fish that was

believed to be extinet. However, an unexpected twentieth- century rediscovery of living
coelacanths has brought about a reassessment of the status of the prehistoric sea creature that
was believed to have long since disappeared from the Earth. From fossil remains of the
coelacanth, paleontologists have determined that the coelacanth was in existence around 350

million years ago, during the Paleozoic Era, more than 100 million years before the first



[image: image4.jpg]dinosaurs arrived on the Earth. The most recent fossilized coelacanths date from around 70
million years ago, near the end of the age of dinosaurs. Because no fossilized remnants of
coelacanth was believed to have died out around the same time as the dinosaurs.

The prehistoric coelacanth studied by paleontologists had distinctive characteristics that
differentiated it from other fish. It was named for its hollow spine and was known to have
been a powerful canivore because of its many sharp teeth and a special joint in the skull that
allowed the ferocious teeth to move in coordination with the lower jaw. It also had a pair of
fins with unusual bony and muscular development that allowed the coelacanth to dart around
the ocean floor. These fins also enable the coelacanth to search out prey trying to hide on the
ocean bottom.

In 1938, a living specimen of the coelacanth was discovered in the catch of a fishing boat off
the coast of South Africa, and since then numerous other examples of the coelacanth have
been found in the waters of the Indian Ocean. This modem version of the coelacanth is not
exactly the same as its prehistoric cousin. Today's coelacanth is larger than its prehistoric
relative, measuring up to six feet in length and weighing up to 150 pounds. However, the
modemn version of the coelacanth still possesses the characteristic hollow spine and
distinctive fins with their unusual bony and muscular structure.

Question 25: It can be inferred from the passage that the first dinosaurs most likely

appeared on Earth around
A. 450 million years ago B. 350 million years ago
C. 150 million years ago D. 250 million years ago

can be inferred from the passage that the word “coelacanth” comes from the

A. sharp teeth B. extinct fish C. hollow spine D. bony fingers
Question 27: What is NOT true about the prehistoric coelacanth, according to the passage ?
A. 1t was smaller than the modern coelacanth.
B. Ithad a hollow pine and distinctive fins.
C. It weighed less than 150 pounds.
D. It measured as much as six feet in length.
Question 28: The pronoun *It” in the third paragraph refers to
A. coordination B. coelacanth C. joint D. jaw
Question 29: What is stated in the passage about the prehistoric coelacanth?
At had few teeth. B. It was a rather feeble fish.
C. It lived on plants. D. It moved its teeth in an unusual way.
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A. that is extinet C. that is becoming extinct
B. that once was extinct D. that is not extinct
Question 31: According to the passage, why are scientists sure that the prehistoric
coelacanth was a flesh-cater?
A. Because of its hollow spine
B. Because of its unusual bony and muscular development
C. Because of the shape and movement of the teeth
D. Because of the size of the skull
Question 32: The topic of the preceding paragraph is most likely
A. the discovery of the coelacanth
B. a reassessment of the status of a number of kinds of fish
C. a particular prehistoric sea creature
D. various extinct fish
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined
part differs from the other three in pronunciation in each of the following questions.
Question 33: . buttons B. books C.begs D. cans
Question 34: A, family B. famine C. famous D. fabricate
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that
needs correction in each of the following questions.

Question 3

In early days, hydrochloric acid was done by heating a mixture of sodium
chloride with iron sulfate.

A.In early days B. done C. heating D. with
Question 36: Never in the history of humanity has there been more people living on this
relatively small planet.

A. humanity B.has C. living D. relatively
Question 37: The number of wild horses on Assateague is increasing, resulted in overgrazed
‘marsh and dune grasses,

A. number B.is C. resulted D. grasses

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from
the other three in the position of the primary stress in each of the following questions.
Question 38:  A.instruction  B.intelligent  C.comprehend  D. inflation

Question 39: . reveal B. offer C. provide D. collapse
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meaning to the underlined word(s) in each of the following questions.
Question 40: If one fails to achieve a goal, his or her efforts are fruitless

A. profitable B. futile C. purposeful D. useless
Question 41: Hazardous waste is waste that has substantial or potential threats to public
health or the environment.

A.vivid B.risky C. dangerous D. secure
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to
complete each of the following exchanges.
Question 42: - Janet: “How did you get here?” - Susan: *___.

A.T came here last night. B. The train was so crowded.

C.Is it far from here? D. 1 came here by train.
Question 43: - Janet: “Do you feel like going to the cinema this evening?” - Susan:

A.1don't agree. 'm afaid. B. 1 feel very bored.

C. That would be great. D. You're welcome.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to
indicate the correct answer to each of the questions
For a century before the Erie Canal was built, there was much discussion among the general
population of the Northeast as to the need for connecting the waterways of the Great Lakes with
the Alantic Ocean. A project of such monumental proportions was not going to be undertaken
and completed without a supreme amount of effort.
The man who was instrumental in accomplishing the feat that was the Erie Canal was Dewitt
Clinton. As early as 1812, he was in the nation's capital petitioning the federal government for
financial assistance on the project, emphasizing what a boon to the economy of the country the
canal would be; his efforts with the federal government, however, were not successful.
In 1816, Clinton asked the New York State Legislature for the funding for the canal, and this
time he did succeed. A canal commission was instituted, and Clinton himself was made head of
it. One year later, Clinton was elected governor of the state, and soon afier, construction of the
canal was started.
‘The canal took eight years to complete, and Clinton was on the first barge to travel the length of
the canal, the Seneea Chief, which departed from Buffalo on October 26, 1825, and arrived in
New York City on November
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Question 44: The pronoun “it” in the 3rd paragraph refers to which of the following?
A. The canal B. The New York State Legislation
C. The state governor D. The commission

Question 45: When did Clinton ask the U.S. government for funds for the canal?
A.In 1812 B.In 1825

C.In 1816 D. One hundred years before the canal was built.
Question 46: The Seneca Chief was

A. the nickname of Buffalo B. the name of the canal

C. Clinton's nickname D. the name of a boat

Question 47: The information in the passage

A.is in chronological order B. is organized spatially

C. gives a cause followed by an effect D. lists opposing viewpoints of a problem
Question 48: The word “boon” in the 2nd paragraph is closest in meaning to

A. Disadvantage B. Benefit C. Cost D. Detriment
Question 49: The paragraph following the passage most probably discusses

A. the effect of the Erie Canal on the Buffalo area

B. Clinton's career as governor of New York

C. the century before the building of the Erie Canal

D. canals in different U.S locations
Question 50: Where in the passage does the author mention a committee that worked to
develop the canal?

A. The first paragraph B. The second paragraph

C. The fourth paragraph D. The third paragraph
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Question 1. D
Kién thire: Tir vimg, tir dong ngha
G thich:

‘maintenance (n): sur giir, su duy tri

building (n): sy xdy dyng, toa nhi foundation (n): su thinh dp, sy séng 1dp

destruction (n): sy phé hoai, sy pha huy preservation (n): sir gitl, sur bo ton

=> maintenance = preservation

Tam djch: Vie duy tri nhimg liu dai cb nay phéi tén rit nhidu tién.
Question 2. B

Kién thire: Tir vung, tir dong nghia

Giii thich:

cultivation (n): s canh tic, sir trong trot

planting (n): s trong ciy farming (n): néng nghiép, canh tic
industry (n): cong nghi¢p wood (n): g&
=> cultiv

‘Tam dich: Nguoi dan ving nii vin c6 théi quen phd rimg dé trng trot.

Question 3. D
Kién thire: Tir ving

G thich:

equip (v): (+with) trang bi serve (v): phuc vu, déi xit
entitle (v): dit twa dé, dt tén cho award (v): trao ting, trao

‘Tam dich: Chi c6 mjt ngudi c6 thé dua ra gidi phép 18t nhit cho cdu hoi niy s& duge thing
chite v nhin mit khoin trg cdp tai chinh

Question 4. D

Kién thire: Cau diéu kién

G thich:

Ta diing ciu diéu kién logi 2 dé dién ta mot hanh déng khong c6 that & hién tai.

Cu triic cdu diéu kién loai 2: 1f + ménh d& qua khir don, S + would/could... +V +.

Tam dich: Néu mét s6 lodi nguy cip duoc giir trong vuom thit, né s& gitp dam bao su séng

con cita chiing trong trong lai.
Question 5. B

trong tiéng anh




[image: image10.jpg]‘Ta diing thi qué khir hoin thinh dé dién ta mt hanh dong bt diu va kéo dai (nhin manh tinh
lién tye cia hinh dong) dén trude mit thas diém/mdt hanh dong khic trong qué khir.

Tam dich: Ong t5i da nghi huu vio thing truée. Ong da lm vige cho ciing mt cong ty trong
40 nam.

Question 6. B

Kién thirc: Modal verb

Gii thich:

should + have PP: nén da phi lim gi (nhung thyc té I3 da khong lim)

Tam dich: Toa nhi niy ding 1& di nén hodn tit vio cudi nim ngodi nhung c6 rit nhiéu cuge
dinh cong khién n6 vin chura hoan thanh.

Question 7. C

Kién thire: Cau hoi dudi

Gii thicl

Trong vé cdu chinh néu c6 cic trang tir mang tinh phi dinh nhu “rarely” thi
dang khing dinh.

Vé chinh diing ddng tir, nén cau hoi dudi ta diing tro ddng tir.

‘Tam dich: Susan hiém khi thirc khuya, diing khong?

Question 8. B
Kién thire: Idiom, tir vimg.

G thich:

‘Ta ¢6 thinh ngir: “to be hot under the collar: dién tiét, cdu tiét

‘Tam dich: Nghe vé nhimg nguoi déi xir khong tot véi dong vat khién toi dién tiét.
Question 9. D

Kién thire: Qua khir phan tir

Gidi thich:

‘Ta diing qué khir phin tir tao ménh d rit gon cho dang bj dong (dang chit dong ta ding hign
tai phin tir). Trong ciu ndy, “known as” duge hiéu 13 “which is known as™

‘Tam dich: Florida, dugc biét dén véi cdi tén Sunshine, thu hiit nhiéu du khich mdi nam.
Question 10. A

Kién thire: Phrasal verb

G thich:

do with (v): (chi mét sy cin thiét, mt sy mong mudn, thudng ding véi can/could)
‘make for (v): giip vio, gop vio

pass for (v): duge coi 1
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‘Tam dich: Ban trong thyc sy mét moi. Toi nghi ban c6 thé cin mot ky nghi khoang mdt tuin
diy.
Question 11.C

én dn

announce (v): béo, gidi thi¢u denounce (v): t6 cio,
pronounce (v): phit am renounce (v): ir bo; b
‘hon hai phy dm véi nhau c6 thé kho

‘Tam dich: Déi véi nhimg ngudi ndi tiéng A Rap, nhi
phat am, vi vy ho thudng chén mdt nguyén 4m ngin gitra chiing.
Question 12.C

Kién thire: Tir vimg

G thich:
severe (a): nghiém khiic; khic nghiét serious (a): nghiém trong, nghiém tic
suitable (a): hop, phit hop sensitive (a): nhay cam, d& bj tén thuong

‘Tam dich: Cic mii nhi lop bing phing khong phii hop & nhimg khu vire 6 nhidu mua hoge
tuyét.
Question 13. A

Kién thire: Tir ving, cum tir

G thich:
scorn (n): sy khinh bi, sy khinh miét blame (n, v): sir d 13i, dé 16i
disapproval (n): sir khong tan thinh hatred (n): long cam ghét

Cym tir ¢6 dinh "pour scorn on somebody": dé biw/ché bai ai do

‘Tam dich: Truyén thong dja phuong dé biu ngi thi truong vi gidi tin hdi déng thinh phd.
Question 14. A

“be used to” + V-ing: quen véi vide lim gi
V& nghia cita cdu thi ta ding & dang bj ddng & phi hop hon.

‘Tam dich: L mit ciu bé nho tudi, cju da quen bj bo lai mdt minh & nhi trong mt hodc hai

g dong hd.

Question 15. A

Kién thire: Tir loai, doc hiéu
G thich:



[image: image12.jpg]outsourcing (n): qua trinh sip xép cho ai d bén ngodi cong ty dé lam viée hogc cung cip
hing hod cho cong ty 6
outsource (v): sip xép cho ai 6 bén ngodi cong ty dé lam viée hodic cung cip hang hod cho
congty dd

outsourced (qué khit/qui khir phan tir)

Vi tri iy ta cin mot danh tix, vi phia truc ¢6 mgo tir “the”

Question 16. D

Kién thire: Giéi tir, doc hiéu

G thich:

for (prep): cho, vi with (prep): v6i

of (prep): ciia by (prep): b, trude

Question 17. D
Kién thire: Tir ving, doc hiéu

G thich:
evaluation (n): sir dénh gid investigation (n): sy diéu tra
calculation (n): sy tinh todn; sy cinnhic  estimate (n): sy ude huong, sy udc tinh

Question 18. B
Kién thire: Ménh dé quan h¢, doc hiéu
Gii thich:

Ta ding ménh dé quan hé “which™ & diy dé thay thé cho toin bg vé cau & truée diu phay.
Question 19. A

Kién thire: Tir vimg, doc
G thich:

goods (n): hing héa stuff (n): chit, chit ligu, c4i, thit...

garment (n): do, quin ware (n): hing, mat hang, d6 gbm sit

Dich bai doe:

Cic cong nhin Ii tré em, khodng 10 tudi, duge tim thiy dang 1m vige trong mdt nha miy dét
‘may trong diéu ki¢n dugc mo ta li gin véi ché do no 1¢ dé sin xudt quin do danh cho mét

trong nhimg nha bén 1é duomg phd 16n.

Su phit hién ciia nhimg dira tré lam viée trong diéu kién khung khiép tai khu vire Shahpur Jat

ciia Delhi da lim méi mdi quan ngai vé vige séip xép ngudi lim thém bén ngodi ciia mt s

chudi bin 1¢ 16n sin xudt

\g may mic cho An Pg, duoc LHQ cong nhin 1a mt trong

nhimg diém néng cia thé gidi ddi véilao dong tré em. Theo mt wdc tinh, hom 20% nén

kinh té An D) phy thude vilo tré em, trong d6 ¢ 16i 55 triéu tré dudi 14 tui lm vige. Ngudi
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Question 20. D

Kién thire: Viét lai ciu

Gii thich:

Tam dich: Mike tot nghiép véi bing gioi. Tuy nhién, anh gia nhap hang ngd nhimg ngudi
thit nghigp.

A. Néu Mike tét nghiép v6i mot bing gioi, anh s& gia nhdp hing ngi ciia ngudi thit nghiép.
B. Viéc Mike tét nghiép véi mét bing da gitp anh gia nhip hing ngii cta ngudi thit nghig

C. Mike tham gia vio hang ngi nhimg ngudi thit nghiép bai vi anh tét nghiép véi mét bing
gio

D. Mc dit Mike tt nghiép véi mot bing gioi, anh da gia nhap hang ngii nhimg nguéi thit
nghigp.

Question 21. D

Kién thire:

lai ciu
Gii thich:
‘Tam dich: Nam diinh bai cyu vé dich trong ba xéc (ba vn). Cudi ciing anh da gidnh chirc v

dich bong bin lién truimeg.
A. Mie dis Nam dénh bai cuu v6 dich trong ba xéc, anh khong gidnh duge danh higu v
dich béng bin lién trudmg.

B. Bj dinh bai cyu vo dich trong ba xéc, Nam mit co hi dé choi céc trin chung két cia gidi

V6 dich béng bin lién truong.
C. Sau khi ddnh bai cyu vé dich trong ba xéc, Nam khng giir danh hi

D. Sau khi dénh bai cyu vé dich trong ba xéc, Nam da gianh gi:

V6 dich.
o dich béng ban lien

truimg.
Question 22.C
Kién thir t lai cdu, cdu diéu kién

G thich:
Tam dich: Anh dy da lii xe rit nhanh bai vi anh 4y khong biét duong di dong bang. (Hanh
dong 14 xe I trong qui khir)

A. Néu anh dy biét duémg da déng bang, anh dy s& khong l4i xe qua nhanh. (Hién tai anh dy
i xe qué nhanh)

B. Sai cdu tric ciu diéu kién logi 3
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D. Sai céu triic ciu diéu
Question 23. A

Kién thir
G thich:

én logi 2

iét lai cau

Tam dich: Rét kho dé bit diu tim & d6 tudi cua toi.

A. Toi khé ¢6 thé duge lam

& b cia toi.
B. Téi con tré, do d6 rit kho dé bt diu tim kiém vige lam.

C. Duge lim vi

& nhimg d§ tudi nhu vy ciing rit khé.
D. Téi khong nghi minh c6 thé
Question 24. A

diu tim viée ngay biy gid.

Tam dich: Toi di danh thoi gian cho

A. Cu hoi cudi ciing 1 khé nhit déi véi 1.

u hoi cudi ciing nhidu hon so véi bén cau diu tién.

B. Téi chi trd 16i bén cu héi diu tién.

C. Cau hoi cudi cing d& hon nhimg cau hoi khac.
D. Téi khong thé lim dén cau hoi cui cig.
Question 25. D

Kién thire: Doc hiéu

G thich:

C6 thé suy ludn tir doan viin riing nhing con khiing long diu tién c6 thé xudt hi¢n trén tréi dit
Khoing

A, 450 trigu nam truée B. 350 trigu nim trude

C. 150 trigu niim truée D. 250 triéu ndm trude

Théng tin: From fossil remains of the coelacanth, paleontologists have determined that the

coelacanth was in existence around 350 million years ago, during the Paleozoic Era, more

than 100 million years before the first dinosaurs arrived on the Earth.
Question 26.C

C6 thé suy lugn tir doan van ring tir "coelacanth” xudt phit tir tiéng Hy Lap
A. ring sic bén B. c di tuyét chung

C. ¢t song rdng D. ngén tay xuong xiu
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Question 27. D

Kién thirc:
G thic}

oc hiéu

Diéu gi 1d khong ding sy thit vé ¢4 viy tay tién si, theo doan vin?
A.N6 nho hon so vai ci viy tay hién dgi.  B. NG c6 cdt séng réng v vy khic thudng.
C. N6 nng chua diy 150 pound. D. N6 dii khoing 6 feet.

Thang tin:

- Today's coelacanth is larger than its prehistoric relative, measuring up to six feet in length

and weighing up to 150 pounds.
- However, the modern version of the coelacanth still possesses the characteristic hollow
spine and distinctive fins with their unusual bony and muscular structure.

Question 28. B

Kién thire: Doc hiéu

G thich:
Dai tir "N6" & doan thir ba dé cdp dén

A. phi hgp B. ci viy tay
C. khdp D. him

“It” dé cip dén ci vy tay: The prehistoric coelacanth studied by paleontologists had
distinctive characteristics that differentiated it from other fish. [...] It also had a pair of fins
with unusual bony and muscular development that allowed the coelacanth to dart around the
ocean floor.

Ca viy tay tién sir dugc cdc nhi cd sinh vit hoc nghién ciru c6 dic diém phan biét vi cic
lodi cd khdc. [...] N6 ciing c6 mgt doi viy v6i sy phit trién xwong va co bip bit thuomg
cho phép ci viy tay kin xubng déy dai duong.

Question 29. D

Kién thire: Doc hiéu

G thich:

Diéu gi dugc néu trong doan viin vé cé viy tay thai tién s

A.C6 it ring. B. Limdt lodi i khd yéu.
C. N6 séng trén cly. D. N6 chuyén déng ring ciia n6 theo mdt cich khic thuong.



[image: image16.jpg]Thang tin: It was named for its hollow spine and was known to have been a powerful
camivore because of its many sharp teeth and a special joint in the skul that allowed the
ferocious teeth to move in coordination with the lower jaw.

Question 30. D

Kién thire: Doc hiéu

Giii thich:

Poan niy néi vé mdt con ci

A. hién da tuyét ching B. da timg bj tuyét ching
C. dang trér nén bj tuyét ching D. khng bi tuyét ching

‘Thang tin: Unlike these fish, which are actually extinet, the coelacanth is a type of fish that
was believed to be extinct. However, an unexpected twentieth- century rediscovery of
living coelacanths has brought about a reassessment of the status of the prehistoric sea
creature that was believed to have long since disappeared from the Earth.

Question 31.C

Kién thire: Doc hiéu

Gii thicl

‘Theo doan viin, tai sao cic nha khoa hoc chiic chiin ring cé vdy tay tién sir 1d mot lodi in thit?
A. Do cjt song rong ciia né

B. Do sy phit trién xuong vi co bt thuémg cua n6

C. Do hinh dang v chuyén dong cia ring

D. Do kich thue cia hop so

Thang tin: It was named for its hollow spine and was known to have been a powerful
camivore because of its many sharp teeth and a special joint in the skull that allowed the
ferocious teeth to move in coordination with the lower jaw.

Question 32. D

Kién thire: Doc hiéu

G thich:

Chui dé ciia doan trudc rit c6 thé 13

A. sy khim phi ci vy tay B. dinh gid

C. mét sinh vat bién thoi tién sir dic bi

t D ciclodi cd tuyt ching khic nhau
BGi & dau bai viét nay c6 nhic dén “these fish, which are actually extinct” nén doan trude c6

thé néi vé cic lodi ¢ di tuyét ching

Dich bai doc:



[image: image17.jpg]Khéng giéng nhu nhimg lodi ci niy thyc sy da tuyét ching, ci viy tay 13 mdt logi

i duge cho I da tuyét chiing. Tuy nhién, mdt khim phd Iz ling trong thé ky hai muoi vé ci
vily tay séng da mang dén mt dénh gid vé trang thii cua sinh vit bién tién sit duge cho 1a tir

liu da bién mét khoi Tréi Dit.

Tir cdc hoa thach con lai ciia ¢ vay tay, cde nha cd sinh vét hoc da xdc dinh ring cd vay tay

da tén tai khoang 350 trigu nfim true, trong ky nguyén Paleozoi, hon 100 trigu nam truée

khi nhimg con khing long du tién xudt hién trén trdi dit. Cic loai cé viy tay hod thach

gin day nhit duge cho I tir khoang 70 triéu nim trude, gin cudi thoi ky khing long. Bdi vi
Khong c6 héa thach con sot lai cia cd vy tay duge cho I da chét trong khoing thii gian
giéng nhu khing long.

Ci vy tay tién sir duge cic nha cb sinh vit hoe nghién ciu ¢6 djc diém phin bigt véi cic
lodi cd khic. N6 dugc dat tén boi cdt song rdng cia né va duge biét dén 1 mot dong vit an
thit manh b nhidu ring sic vi mot khdp dic bigt trong hop

chuyén dgng cing véi him dudi. N6 ciing c6 mt doi viy véi sy phit trién xuong va co bip

cho phép ring khoé manh

bit thuromg cho phép ci vay tay lin xuéng ddy dai dwong. Nhimg viy ndy ciing cho phép ci
viy tay tim ra con mdi cd ghng tron trén ddy dai duong.

Nam 1938, mt mu vit sdng cua cd viy tay da duc tim thiy trong mot chiée thuyén dinh
biit ngodi khoi Nam Phi, v ké tir & nhiéu vi dy khdc cua cé vy tay da duge tim thy & ving
bién An Do Duong. Phién ban hién dai cia ci vy tay khong hodn toan gidng véi thoi tién sir
cia n6. Cé vy tay ngiy nay 16n hon so véi tién sit ciia n6, ¢ chiéu dii 1én dén 6 feet va ning
dén 150 pound. Tuy nhién, phién ban hién dai cia ¢ viy tay vin c6 cdt song rong dic trung
va cic vay diic biét v6i cdu trilc xwong va co bit thutmg cia ching.

Question 33. B
Kién thire: Phit am

G thich:
C6 ba quy tic phit dm dudi sles
Quy thic 1: Phit am 1a /s/ khi tin ciing tir bing -p, -k, -t, -f.
Quy tic 2: Phat m 14 /iz/ khi tan ciing tir bing -s.

Quy tic 3: Phit am 14 /2/ déi v6i nhimg tir con lai.
Phin gach chin ciu B duge phit am 14 /s/ con lgi 1a /2/
Question 34.C

Kién thire: Phit am “-a”

Gii thich:

family /femoli/ famine /femin/



[image: image18.jpg]famous /feimas/ fabricate /febrikeit/
Phin gach chin ciu C duge phat dm 13 /ei/ con lai 1a /e/
Question 35. B

ir ving, stra 18i sai

done => made
Cau niy sai vi diing tir khong ding nghia.
do (v): lim; va make (v): tao ra
Tam dich: Trong nhing ngdy diu tién, axit clohidric dugc tao ra bing cich nung néng
mét hdn hop natri clorua véi st sulfat.

Question 36. B

Kién thire: Ciu triic voi “there be™
G thich:

has => have

Phia sau 13 danh tir s3 nhiéu (people) nén ta khong thé diing “has” mé phai diing “have”

‘Tam dich: Chua bao gior trong lich sir nhan loai ¢6 nhiéu ngudi hon thé niy song trén hanh
tinh tuong déi nho ndy.

Question 37.C

Kién thire: Hién tai phan tir, qui khir phén tir

G thich:

resulted => resulting
‘Ta ding hién tai phan tir tao mdt ménh dé quan h¢ rit gon ddi véi dang chii dong (con dang
bj dong ta ding qud khi phan tir)

Trong ciu nay “resulting” duge hiéu 13 “which results”

Tam dich: S5 luong ngya hoang & Assateague dang gia ting nhanh chéng, din dén nhimg

bii o dim Ly va co déc trd nén qué tai.

Question 38. C
Kién thire: Trong im cia tir 6 3 am tiét o len

G thich:

instruction /in'strakn/ intelligent fin'telidsont/
comprehend /komprithend/ inflation /in'fleifn/

Céu C trong dm roi vao 4m tiét thir 3, con lai 14 thir 2
Question 39. B
Kién thire: Trong am cua tir c6 2 4m tiét



[image: image19.jpg]reveal fi'vi: offer /ofafr)/
provide fpra'vaid/ collapse /ka'leps/

céu B trong dm roi vio dm tiét thir nhat, con lai 14 thir 2

Question 40. A

Kién thire: Tir vung, tir tréi nghfa

G thich:

fruitless (a): khong c6 két qua, thit bai profitable (a): ¢6 loi; b ich
futile (a): vé ich, vo nghia purposeful (a): [¢6] quyét tim

useless (a): V6 ich, v dung
=> fruitless >< profitable

‘Tam dich: Néu mgt nguoi khong dat duge muc tiéu, thi nd luc cia ho 1 khong c6 két qua.
Question 41. D

Kién thire: Tir vimg, tir trdi nghia

G thich:

‘hazardous (a): nguy hiém vivid (a): tuoi sang, song dong
risky (a): diy ri ro nguy hiém dangerous (a): nguy hiém

secure (a): bio dim, an toin
=> hazardous >< secure
‘Tam dich: Chit thai nguy hai la chit thai c6 nhimg méi de doa ding ké hodc tiém 4n doi véi

sitc khoé cdng dong hoic méi trudmg.

Question 42. D
Kién thire: Vin hoi giao tiép

G thich:

Tam dich: - Janet: "Ban di dén diy bing cich nao?" - Susan:"__."

A, Toi dén day dém qua. B. Con tau rit dong.

C. Tir ddy cich né xa khong? D. Téi dén day biing tau hoa.

Question 43.C
Kién thire: Van hod giao tiép
G thich:

‘Tam dich: - Janet: "Ban ¢ muén di xem phim vao t&i nay khong?" - Susan: "

A. Téi khong déng . Toi s. B. Téi cam thiy rit chan.
C. iéu d6 hiin s rit tuydt voi. D. Khéng c6 gi. (dp lai 16i cim on)
Question 44. D



[image: image20.jpg]Dai tir "it" trong doan thir ba dé cip dén?

A.Kénh dio B. Lujt phip tiéu bang New York

C. Théng déc bang D. Uy ban

Tir “it” dé cip dén “commission” & vé trudie: A canal commission was instituted, and Clinton
himself was made head of it

Mat iy ban kénh dio da duge thinh I3p, v chinh Clinton da dugc lim chi.

Question 45.C

Kién thire: Doc hiéu

G thich:

Khi nio Clinton yéu ciu chinh phit Hoa Ky vé kinh phi cho kénh dio?

A Nam 1812 B.Nam 1825

C. Nam 1816 D. Mt tréim niim truée khi con kénh duge xdy dyng.

Thang tin: In 1816, Clinton asked the New York State Legislature for the funding for the
canal, and this time he did succeed.

Question 46. D

Kién thire:

oc hidu
G thich:
‘The Seneca Chief 1d

A, bigt danh ciia Buffalo B. tén ciia kénh

C. biét danh ciia Clinton D. tén ciia mot chiée thuyén

Théng tin: The canal took eight years to complete, and Clinton was on the first barge to
travel the length of the canal, the Seneca Chief, which departed from Buffalo on October 26,
1825, and arrived in New York City on November 4.

Kénh dao nay mét 8 nim dé hoan thanh, va Clinton da & trén chiée sa lan diu tién di doc theo
chiéu dai ciia con kénh, the Seneca Chief, khdi hanh tir Buffalo vio ngiy 26 thing 10 nam
1825 va dén thinh phé New York vio ngiy 4 thing 11.

Question 47. A

Kién thire: Doc hiéu

G thich:

‘Thong tin trong dogn vén

A theo thir ty thoi gian

B. duge 16 chire vé khong gian



[image: image21.jpg]C. dua ra mt nguyén nhin sau d6 1 dnh huéng

ké céc quan diém trdi nguge nhau cia mot

Question 48. B
Kién thir

oc hiéu
G thich:

Tir "boon” trong doan 2 ¢6 ¥ nghia gin nhat vai

A. nhugc diém B. lgi ich
C. chi phi D. thiét hai
“boon” = benefit: lgi ich

he was in the nation's capital petitioning the federal government for financial
assistance on the project, emphasizing what a boon to the economy of the country the canal
would be

Gng da c6 mit ¢ thi d6 cta qudc gia yéu ciu chinh phi lién bang hd tro tai chinh cho dur dn,
nhin manh dén g ich cia nén kinh té nuéc niy ma kénh dao c6 thé dem dén

Question 49. D

Kién thire: Doc hiéu

G thich:

Poan sau doan vin ndy c6 thé thio lugn vé

A dnh huéng cita kénh Erie trén khu vyce Buffalo

B. sy nghiép clia Clinton véi t céch théng de bang New York

C. thé ky trude khi xdy dymg kénh dio Erie

D. céc con kénh & cic vi tri khic nhau & Hoa Ky

Thang tin: Vi cudi bii niy c6 cau: “Because of the success of the Erie Canal, numerous
other canals were built in other parts of the country.”

Question 50. D

Kién thire: Doc hiéu

G thich:

Trong doan vin ndo tic gia dé cap dén mt uy ban da lam vige dé phit trién kénh dao?
A. Doan thir nhat B. Doan thi hai

C. Dogn thi tw D. Doan thir ba

Théng tin: Trong doan thir 3 ¢6 viét: “A canal commission was instituted, and Clinton
‘himself was made head of it. One year later, Clinton was elected governor of the state,

and soon after, construction of the canal was started.”
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Trong mét thé ky trude khi kénh dio Erie dugc xdy dung, da ¢6 nhidu cuge thio ludn gitra
céc din cu néi chung cia ving Dong Bic vé nhu ciu két ndi cic tuyén dudmg thiy cia Great
Lakes vdi Dai Ty Duong. Mot dy dn dd sd nhur vy s& khang duge thyc hign va hon thnh
thye hign thinh

‘ma khong c6 mot nd lue téi da. Nguoi dong vai trd quan trong trong vi
cong kénh dio Erie la Dewitt Clinton. Ngay tir nim 1812, dng da ¢6 mit & thit do cia que
gia yéu
kinh té nu6c niy ma kénh dao 6 thé dem dén; tuy nhién, nhimg
phil lién bang, da khong thinh cong.

Nam 1816, Clinton yéu ciu Co quan Lip phap Bang New York tai trg cho kénh dio, va lin

chinh phu lién bang hd trg tai chinh cho dy dn, nhin manh dén loi ich cua nén

lwe ciia ong vai chinh

niy ong da thinh cong. Mot ity ban kénh dio da duge thinh Iip, va chinh Clinton da duge
lam chii. Mgt niim sau, Clinton duge biu lim théng ddc cua bang, va ngay sau o, vige xiy
dung kénh dao di duoc bit dau.

Kénh dio niy mit 8 nam dé hoan thinh, va Clinton 3 & trén chiéc sa lan diu tién di doc theo
chiéu dai ciia con kénh, the Seneca Chief, khai hanh tir Buffalo vao ngiy 26 thing 10 nim

1825 v dén thanh phé New York vio ngiy 4 thing 11. Vi thinh cong cia kénh dio Erie,
nhidu kénh khic duge xdy dung & cic ving khic ciia dit nuc.
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